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Arch2ke| ot
AKX 2| (FELXN LML /ML)
SHA el (s3SHAASSE3AH) (Sl & &)
HE . E(BA) - NRAY - BYS 0] &b 2 p/E-T HDE2
ni; 12,894,919 12,956,000 A 61,081
s 200,000 200,000 0
Al 12,694,919 12,756,000 A 61,081
AN 2e(FELXAMNL /S SR 12,694,625 12,748,000 A 53,375
s 200,000 200,000 0
Al 12,494,625 12,548,000 A53,375
X e (=SHIAMSELS ) 594,625 648,000 A 53,375
s 200,000 200,000 0
Al 394,625 448,000 A53,375
SHA el 29 562,625 615,000 A52,375
s 200,000 200,000 0
Al 362,625 415,000 N52,375
101 Q124 H] 10,000 22,000 A 12,000
04 DIt Z22XsSE* 10,000 22,000 A 12,000
Os3HA Jt2+= S &33Hl  10,000,000& 10,000 22,000 A 12,000
201 €24l 38,625 61,440 A22,815
01 AF2 22l bl 10,711 15,440 N4, 729
Os3cizael 29 5,711,000& 5,711 10,440 A4, 729
02 2324l 27,914 46,000 A 18,086
Os3HA Jtzs € HHEANE RANES
6,000,000& 6,000 6,000 0
OEELMsSHA H=SAHXMIANE =
11,913,850& 11,914 30,000 A 18,086
202 044l 0 7,560 AT,560
01 SLHOYI 0 7,560 AT7,560
OsEHXAY g2 =& 0& 0 7,560 AT,560
401 AIEHI L 2] 460,000 470,000 A 10,000
s 200,000 200,000 0
Al 260,000 270,000 A 10,000
01 A& HI 460,000 470,000 A 10,000
O=3CtX AIE&2 FHl 30,000,000& 30,000 40,000 A 10,000
SHA e Fs2el 7,000 8,000 A 1,000
801 ol 8l 7,000 8,000 A 1,000
01 LEetoildl gl 7,000 8,000 A1,000
oolgltl 7,000,000& 7,000 8,000 A 1,000
LES(MHAAB)N(ZELXAML /SR 200,294 208,000 AT,706
BENE(sSHANAISEE S H) 200,294 208,000 NT,706
BHINE(sSHANAILSSESAH) 200,294 208,000 NT,706
802 gtet=JIEt 294 8,000 AT,706
01 =nEx=ttet= 0 7,000 AT,000
O=1Ex3 ZHEN ote 0 0 7,000 A7,000
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